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What is the main product obtained by the oxidation of thioethers with KMnO;

a. Sulphone b. Sulphide
c. Thioacetals d. Sulphoxide

Which is the main product of the following reaction?

R-MgX + S R-S-MgX R+ MgX,
a. Thiols b. Thioethers
c. alkane d. Halo acids

For preparation of any p-alcohol using Grignard reagent (GR), need
a.GR + HCHO b.GR + RCHO
c. GR + Ketone d.GR + H;O

An organic compound A reacts with sodium metal and forms B. On heating with
conc. H2S0;, A gives diethyl ether. A and B are respectively -

a. CoHsOH and CaHsONa b. CyHsOH and CHaONa

C. C%H;’O“ and C;ll;O'\‘a a.Cl I,\()H and Czl'lj,ONd

The major product in the given reaction

Sy £ Br
(\.f 5 KOHaq -7
N g
a. (E(\OH b. t“\I,[\()
~7 “oH gy
C. (\\f\ Br d. m: /B

I
OH

H

Which is a not a correct statement for an SN2 reaction?
a. Proceed with inversion of configuration  b.strong nucleophile will favour the
reaction.
¢. weak  nucleophile  will  favour the d.polar aprotic solvent favour SN2
reaction. mechanism.

A and B in the following sequence of reactions are respectively

SOCl, Mg metal
ROH A dry ether
a. ROCland ROMg b. RCl and RMgCl
¢. RCl and RMgOCI d. ROCl and RCI
Strength of the following nucleophile will be of the order:
a. CHyS> CHAO-> t-BuOr b. CH30O- > CHiS > t-BuO-
¢ -BuO-> CH1S> CHO- d. CHyS> t-BuO->CHO-
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[ Descrigtive]

Time : 2 hrs. 30 mins. Marks : 50
[Answer question no.1 & any four (4) from the rest ]
1. a. What are the products of the given reactions? explain 3
() 2
©/*H 1) 50% KOH (aq)
T Product
2) acidification
(o}

(ii /©)\ NaBH,
e~
ClI 7 R TR Tl

b. Why the following reaction gives such results?

2
Br
. Y - ()
100% 0%
c. i. Discuss the preparation of salicylaldehyde starting from phenol 3
via Riemer-Tiemann reaction?
ii. What are the products of the following reaction and which one 3
is the major product?
o/w
“ Heat
J —_— ?2+7
n
2. a. Write down the product /products formed in the following 3
reaction with mechanism.
Cl
NaNH2 : b
NH;(1) (-33°C)
OCH,4
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b. Write down the products A, B and C in the following sequence of 3
reactions

==
HBr _ Mg i) CH3CHO
dry ether ||) NH4C| / H20
c. Sketch out a strategy for synthesis of the following compounds :

using CH3;CH2Br
O

) =9 (ii) P

a. Discuss the stereochemical changes that may be observed when an 3
optically active substrate undergoes nucleophilic substitution
following SN! mechanism.

b. “A strong nucleophile favour SN2 mechanism and weak
nucleophile favours an SN! mechanism.” Justify the statement.

¢. Predict the products in the following reactions: 4

Br
M A, + on %< ?

Br
(i A+ EBUOESISSILRE
Br

o ; room
(iii) /l\. +OH S

(Iv) S B AN CN
a. How will you prepare ethanol from acetaldehyde. Why is the 1+2=3

boiling point of ethanol greater than acetaldehyde-explain
schematically?

b. Write down the structure of picric acid, 2-nitrophenol and 2- £
ethylphenol and comment which one is more acidic in nature.

¢. Describe Pinacol-pinacolone rearrangement.

d. How can you prepare epoxide from halohydrins? Explain with a 2
suitable example
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a. Write the reagents (A & B) of the following reactions. 2+5+3
i =10
o] H,

SOCI Pd/BaSO
©)\OH : A f > B
Quiniline

b. Write a short note on Cannizzaro reaction .

c. What product will be formed if CO:z is treated with 2 equivalents of
PhLi in anhydrous THF followed by acidic treatment?

a. Write down the products of the following reactions 2
Hz
C CH Excess HI
MiHc 507 ¥ —————— Products

i O Excess Hl
(i) ©/ CHy = . Products

b. Show the mechanistic pathway of Curtius Rearrangement.

c. Write down the structure of Maleic acid and Fumaric acid. Which 3
one can form corresponding anhydride easily upon heating via
intramolecular dehydration? Draw the structure of that anhydride.

d. How will you prepare Phthalic anhydride from Phthalic acid?

a. Why 4-nitrophenol has greater boiling point than 2-nitrophenol - 2
draw the structures in support of your answer?

b. Describe Kolbe-Schmitt reaction and show the mechanism for the 3
formation of salicyclic acid from phenol.

(5]

¢. Write down the products

OH BI"z-Hzo n
@ Brz.,CSz -0

283K

d. Write down the short note on Fries Rearrangement with detailed 3
mechanism? What is the role of AICI; in the reaction?
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e =3
, Product B

of the following reaction

mCPBA

A =13
heat C




